Scatterplots and Regression Lines
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Algebra 2
Scatterplots:

Line of Regression/Line of Best Fit:
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The following graph shows hair length vs. height.  Label the graph.  What conclusions can you make from the graph?  Would you be willing to predict the hair length of a student who is 66 inches?
The following table gives information about 10 females who were given a reading comprehension test.

	Shoe Size
	Test Score

	1
	12

	2.5
	15

	3
	19

	4
	25

	5.5
	38

	6
	42

	7.5
	43

	8.5
	67

	9
	75

	9
	58


1. Label the scatterplot:
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2. The equation of the regression line is y = 7.3x – 1.5.  Add this line to your graph.

3. What does the slope mean in the context of this problem?
4. What does the y-intercept mean in the context of this problem?
5. DSW funded this study.  When the results were published they made signs for all of their stores that read, “Bigger shoes make you smarter.  Big shoe sale next week.”  Comment on the appropriateness of these signs.

